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If you miss a question, mark the correct answer. Add the total points (at 1 each) and write it clearly in the blank for Total Points.
	1.
	In the 1920s and 1930s, this nation was fascist and led by Benito Mussolini (Duce) It joined in an alliance with another fascist nation in 1935 and attacked Ethiopia in 1935 and Albania in 1939.

a. Germany    *b. Italy    c. Japan    d. Soviet Union   e. Spain


	2.
	A factor in the world-wide economic problems was that Germany's repayment of war reparations hinged on

*a. loans from the United States.
b. the ability of Great Britain to serve as a mediator.
c. the Germans' ability to produce oil for sale.

d. the good will of the French in accepting German marks.



	3.
	This man was President at the time of the Bonus March and Milo Reno’s Farmers’ Holiday Association, when unemployment was nearly 25%, and when the government shifted from advocating voluntary actions by business to trying government intervention, such as the Reconstruction Finance Corporation and the Emergency Relief and Reconstruction Act, to stop the Great Depression. 

a. Calvin Coolidge   *b. Herbert Hoover    c. Franklin D. Roosevelt    d. Theodore Roosevelt   e. Harry S Truman


	4.
	In the mid 1930s, this nation had a civil war between the fascists under General Francisco Franco (aided by Germany and Italy) and the Loyalists, the supporters of the elected government (aided by Russia and by anti-fascist groups and individuals). The war let the Germans, Italians, and Russians experiment with their new weapons. Franco won by 1939 and established a dictatorship.

a. Germany    b. Italy    c. Japan    d. Soviet Union   *e. Spain


	5.
	At a meeting in Munich, Germany, in 1938, both Great Britain, led by Neville Chamberlain, and France accepted Hitler’s demands for this area, in spite of France’s treaty alliance with this nation. Hitler’s justification was that it had a high German population. Carrying an umbrella (later became a symbol of appeasement), Chamberlain proclaimed that this would bring "peace in our time." The area was:

a. The Rhineland between France and Germany   *b. The Sudetenland in Czechoslovakia   c. Austria   d. Poland 
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	1.
	In the 1930s, this nation was dominated by the military. Military fascism gained and maintained its power by assassination. It had a tradition of emperor worship and of belief in national superiority. It attacked Manchuria in 1931 and began in 1933 to push into China, an invasion that will continue throughout the decade, including the “Rape of Nanking.” 

a. Germany    b. Italy     *c. Japan   d. Soviet Union   e. Spain


	2.
	Which of the following does not explain the stock market crash of 1929?

a. Government regulation of stock issues was very lax, allowing unscrupulous companies to sell stock in almost nonexistent enterprises.
b. Margin buying overstated the real amount of money in the market, when investors did not put up the full price of the stock.

*c. Too few people were investing in the stock market, making it a risky venture.


	3.
	Between the election of Roosevelt and his taking office:

*a. All of the listed items occurred
b. An attempt was made on Roosevelt's life.

c. The banking system neared collapse.
d. The Great Depression reached its lowest point, with 25% of workers unemployed and GNP 50% of what it was in 1929.


	4.
	The “Good Neighbor” policy:

a. Is most associated with Franklin D. Roosevelt

b. Improved US relations with Latin America

c. Resulted in our renouncing the Platt Amendment in return for our keeping Guantánamo Bay in Cuba

d. Faced its greatest test in Mexico, where the Roosevelt administration convinced Mexico to compensate American companies after Mexico nationalized industries there

*e. All of the items listed


	5.
	In response to German and Italian aggression in Europe in the 1930s, the United States:

*a. issued a 1st, and then a 2nd, Neutrality Act,  with the 1st trying to stop Americans from shipping goods to combatants by using an embargo and the 2nd trying to stop what the Nye Commission had called the “merchants of death” from lending and selling to combatants and thereby entangling us in the war
b. proclaimed its intention to support its allies in all cases whatsoever and sign a mutual assistance treaty with Britain and France
c. rescinded the Neutrality Act of 1929

d. supported Roosevelt when he called for increasing America's military preparedness
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